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E–401 

M. A. (Second Semester) (Main/ATKT)  

EXAMINATION, May-June, 2021 

ECONOMICS 

Paper Third 

(Research Methodology and Computer Application) 

Time : Three Hours ]  [ Maximum Marks : 80 

uksV % funsZ’kkuqlkj lHkh [k.Mksa ds mŸkj nhft,A 

 Attempt all Sections as directed. 

 [k.M&v izR;sd 1  

(Section—A) 

oLrqfu”B@cgqfodYih; iz’u 

(Objective/Multiple Choice Questions) 

uksV % lHkh iz’uksa ds mŸkj nhft,A 

 Attempt all questions. 

lgh mŸkj dk p;u dhft, % 

Choose the correct answer : 

1- xq.kksa ij vk/kkfjr vuqla/kku dgykrk gS % 

¼v½ ifjek.kkRed vuqla/kku 
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¼c½ xq.kkRed vuqla/kku 

¼l½ fooj.kkRed vuqla/kku 

¼n½ mi;qZDr esa ls dksbZ ugha 

Research which is based on attributes is called : 

(a) Quantitative Research 

(b) Qualitative Research 

(c) Descriptive Research 

(d) None of the above 

2- ‘kks/k izkfof/k dks dgk tkrk gS % 

¼v½ ‘kks/k dk lQsn ÇizV 

¼c½ ‘kks/k dk dkyk ÇizV 

¼l½ ‘kks/k dk uhyk ÇizV 

¼n½ mi;qZDr esa ls dksbZ ugha 

Research Methodology is known as : 

(a) White Print of Research 

(b) Black Print of Research 

(c) Blue Print of Research 

(d) None of the above 

3- fuEu esa ls fdlesa lexz vuqla/kku vlEHko gS \ 

¼v½ ,d dkj[kkus ds Jfedksa dk 

¼c½ ,d jksxh ds jDr dh tk¡p 

¼l½ ,d xk¡o ds Ñ”kdksa dk 

¼n½ mi;qZDr esa ls dksbZ ugha 
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In which of the following is census research impossible ? 

(a) Workers of a factory 

(b) Blood test of a patient 
(c) Farmers of a village 
(d) None of the above 

4- fuEu esa ls dkSu&lh fof/k izkFkfed vk¡dM+ksa dks ,df=r djus gsrq 

loksZÙke fof/k ekuh tkrh gS \ 

¼v½ izR;{k O;fDrxr vuqla/kku fof/k 

¼c½ vizR;{k ekSf[kd vuqla/kku fof/k 

¼l½ LFkkuh; lzksrksa vFkok lwpuknkrkvksa }kjk lwpuk dh izkfIr 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following is known as the best method for 
primary data collection ? 
(a) Direct personal investigation method 
(b) Indirect oral investigation method 
(c) Information through local sources or correspondents 
(d) None of the above 

5- Lyksfou QkWewZyk dk mi;ksx fd;k tkrk gS % 

¼v½ U;kn’kZ ds vkdkj dk fu/kkZj.k djus gsrq 

¼c½ e/;dk dh x.kuk djus gsrq 

¼l½ izeki fopyu dh x.kuk gsrq 

¼n½ mi;qZDr esa ls dksbZ ugha 

Slovin’s formula is used : 

(a) To determine the size of sample 

(b) To calculate median 

(c) To calculate standard deviation 

(d) None of the above 
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6- foHkze gksrk gS % 

¼v½ izkpy ,oa izfrn’kZt ds chp dk vUrj 

¼c½ lexz ewY; ,oa U;kn’kZ ewY; ds chp dk vUrj 

¼l½ ¼v½ ,oa ¼c½ nksuksa lgh gSa 

¼n½ ¼v½ ,oa ¼c½ nksuksa xyr gSa 

Error is the difference between : 
(a) Parameter and Statistic 
(b) Census value and sample value 
(c) Both (a) and (b) are correct 
(d) Both (a) and (b) are incorrect 

7- fuEu esa ls dkSu&lk fu;e lgh gS \ 

¼v½ NksVh la[;kvksa esa cM+h la[;kvksa dh rqyuk esa T;knk LFkkf;Ro 

gksrk gSA 

¼c½ cM+h la[;k,¡] NksVh la[;kvksa dh rqyuk esa T;knk LFkk;h gksrh gSaA 

¼l½ cM+h la[;k,¡ ,oa NksVh la[;k,¡ nksuksa esa ,dleku LFkkf;Ro jgrk 

gSA 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following laws is correct ? 
(a) Small numbers are more stable than large numbers 
(b) Large numbers are more stable than small numbers 
(c) Large numbers and small numbers both are equally 

stable 
(d) None of the above 

8- vk¡dM+ksa ds ladyu] lEiknu] oxhZdj.k rFkk lkj.kh;u dks dgk tkrk 

gS % 

¼v½ ‘kks/k izfof/k 

¼c½ ‘kks/k fof/k 

¼l½ ‘kks/k rduhdh 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Collection of data, editing, classification and tabulation are 
known as : 

(a) Research Methodology 

(b) Research Methods 

(c) Research Technique 

(d) None of the above 

9- ifjdYiuk ds lUnHkZ esa fuEu esa ls dkSu&lk rF; lgh gS \ 

¼v½ ;g ijh{k.kh; gksuh pkfg, 

¼c½ la[;kvksa ds :i esa O;Dr gksuh pkfg, 

¼l½ ¼v½ ,oa ¼c½ nksuksa lgh gSa 

¼n½ ¼v½ ,oa ¼c½ nksuksa xyr gSa 

Which of the following facts is correct with respect to 
hypothesis ? 

(a) It should be testable 

(b) It should be numerically expressed 

(c) Both (a) and (b) are correct 

(d) Both (a) and (b) are incorrect 

10- fuEufyf[kr esa ls dkSu&lk ‘kwU; ifjdYiuk dk mnkgj.k gS ;fn lexz 

ds ek/; dks µ ,oa U;kn’kZ ds ek/; dks x  }kjk iznÆ’kr fd;k tk;s \ 

¼v½ µ > x  

¼c½ µ < x  

¼l½ µ = x  

¼n½ mi;qZDr esa ls dksbZ ugha 
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Which of the following is an example of null hypothesis if 
mean of universe and mean of sample are represented as 
µ and x  respectively ? 

(a) µ > x  

(b) µ < x  

(c) µ = x  
(d) None of the above 

11- ;fn ‘kwU; ijhdYiuk lR; gS] fdUrq mls vLohdkj dj fn;k tk;s rks 

mRiUu foHkze gksxk % 

¼v½ izFke izdkj dk foHkze 

¼c½ f}rh; izdkj dk foHkze 

¼l½ r`rh; izdkj dk foHkze 

¼n½ mi;qZDr esa ls dksbZ ugha 

If the null hypothesis is correct, but we reject it, then the 
error will be : 

(a) Type one error 

(b) Type two error 

(c) Type three error 

(d) None of the above 

12- lglEcU/k xq.kkad ds izeki foHkze dk lw= gS % 

¼v½ S. E. of r = 
21 r

n
−

 

¼c½ S. E. of r = 
21 r

n
−

 

¼l½ S. E. of r = 
21 r

n
−

 

¼n½ mi;qZDr esa ls dksbZ ugha 



 [ 7 ] E–401 

 P. T. O. 

The formula of standard error of coefficient of correlation  
is : 

(a) S. E. of r = 
21 r

n
−  

(b) S. E. of r = 
21 r

n
−  

(c) S. E. of r = 
21 r

n
−  

(d) None of the above 

13- lexz ek/; ,oa U;kn’kZ ek/; ds vUrj dh lkFkZdrk dh tk¡p gsrq 

iz;qDr lw= gS % 

¼v½ t = 
x s

n
− µ

 

¼c½ t = x n
s
− µ

 

¼l½ t = 
x n n

s
−

 

¼n½ mi;qZDr esa ls dksbZ ugha 

Formula for test of significance of the difference between 
census mean and sample mean is : 

(a) t = 
x s

n
− µ

 

(b) t = 
x n

s
− µ

 

(c) t = x n n
s
−  

(d) None of the above 
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14- izlj.k ds fo’ys”k.k ¼,Q vuqikr ijh{k.k½ dk izfriknu fd;k x;k  

Fkk % 

¼v½ dkyZ fi;lZu }kjk 

¼c½ Lih;jeSu }kjk 

¼l½ jksukYM ,- fQ’kj }kjk 

¼n½ mi;qZDr esa ls dksbZ ugha 

Analysis of variance (F Ratio Test) was propounded by : 

(a) Karl Pearson 

(b) Spearman 

(c) Ronald A. Fisher 

(d) None of the above 

15- fuEufyf[kr esa ls dkSu lk ns’k WTO dk lnL; ugha gS \ 

¼v½ ;wukbVsM LVsV 

¼c½ phu 

¼l½ :l 

¼n½ bZjku 

Which of the following country is not a member of the  
WTO ? 

(a) United states 

(b) China 

(c) Russia 

(d) Iran 
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16- ;fn dksbZ lkaf[;dh; ifj.kke 5 izfr’kr lEHkkouk Lrj ij lkFkZd gS] 

rks fo’okl dk Lrj gksxk % 

¼v½ 90 izfr’kr 

¼c½ 95 izfr’kr 

¼l½ 99 izfr’kr 

¼n½ mi;qZDr esa ls dksbZ ugha 

If any statistical result is significant at 5 percent level, then 
the confidence level will be : 

(a) 90 percent 

(b) 95 percent 

(c) 99 percent 

(d) None of the above 

17- WWW dk rkRi;Z gS % 

¼v½ oMZ okbM osc 

¼c½ oMZ foFk osc 

¼l½ oMZ okbt osc 

¼n½ mi;qZDr esa ls dksbZ ugha 

The meaning of WWW is : 

(a) World Wide Web 

(b) World With Web 

(c) World Wise Web 

(d) None of the above 
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18- fuEu esa ls dkSu lk dEI;wVj gkMZos;j ugha gS \ 

¼v½ ÇizVj 

¼c½ lh- ih- ;w- 

¼l½ ,e- ,l- oMZ 

¼n½ mi;qZDr esa ls dksbZ ugha 

Which of the following is not a hardware of a computer ? 

(a) Printer 

(b) C.P.U. 

(c) M.S. Word 

(d) None of the above 

19- lokZf/kd yksdfiz; dEI;wVj gS % 

¼v½ gkbfczM dEI;wVj 

¼c½ fMftVy dEI;wVj 

¼l½ ,ukykWx dEI;wVj 

¼n½ mi;qZDr esa ls dksbZ ugha 

Most popular computer is : 

(a) Hybrid computer 

(b) Digital computer 

(c) Analog computer 

(d) None of the above 

20- fuEu esa ls dkSu&lk lpZ batu ugha gS \ 

¼v½ xwxy 

¼c½ ;kgw 

¼l½ ikoj ikWbaV 

¼n½ mi;qZDr esa ls dksbZ ugha 
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Which of the following is not a search engine ? 
(a) Google 
(b) Yahoo 
(c) Power Point 
(d) None of the above 

 [k.M&c izR;sd 1
21   

(Section—B) 
vfr y?kq mŸkjh; iz’u 

(Very Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj nks ls rhu okD;ksa esa fyf[k,A 

 Attempt all questions in two-three sentences. 

1- lexz vuqla/kku ls D;k vk’k; gS \ 

What is meant by census research ? 

2- ‘kks/k fof/k ls D;k rkRi;Z gS \ 

What is meant by research methods ? 

3- U;kn’kZ fdls dgrs gSa \ 

What is sample ? 

4- Lyksfou QkWewZyk dk mi;ksx D;ksa fd;k tkrk gS \ 

What is the purpose of using Slovin’s formula ? 

5- ifjdYiuk ls vki D;k le>rs gSa \ 

What do you understand by Hypothesis ? 

6- cM+s U;kn’kZ ls D;k vk’k; gS \ 

What is meant by large sample ? 

7- ‘kwU; ifjdYiuk D;k gS \ 

What is null hypothesis ? 
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8- nks U;kn’kZ ek/;ksa ds vUrj ds lkFkZdrk dh tk¡p gsrq iz;qDr Vh&ijh{k.k 
dk lw= D;k gS \ 

What is the formula of T-test for the test of significance of 
two sample means ? 

9- ,d dEI;wVj ds gkMZos;j ls D;k le>rs gSa \ 

What do you mean by Hardware of a Computer ? 

10- b.VjusV D;k gS \ 

What is Internet ? 

 [k.M&l izR;sd 1
22  

(Section—C) 

y?kq mŸkjh; iz’u 

(Short Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 75 ‘kCnksa esa nhft,A 

 Attempt all questions in 75 words. 

1- iz’ukoyh ,oa vuqlwph ds e/; vUrj crykb,A 

Distinguish between questionnaire and schedule. 

2- ,d vuqlwph@iz’ukoyh ds fuekZ.k ds nkSjku dkSu&dkSu lh lko/kkfu;k¡ 

j[kuh pkfg, \ 

What are the precautions while constructing a 
schedule/questionnaire ? 

3- izkFkfed ,oa f}rh;d leadksa esa D;k vUrj gS \ 

What are the differences between primary data and 
secondary data ? 

4- nSo fun’kZu ,oa Lrfjr fun’kZu fof/k;k¡ D;k gSa \ 

What are the random sampling and stratified sampling ? 
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5- ifjdYiuk ls vki D;k le>rs gSa \ bldh dkSu&dkSu lh fo’ks”krk,¡ 

gksrh gSa \ 

What do you mean by Hypothesis ? What are the 
characteristics of hypothesis ? 

6- pj leadksa esa lkFkZdrk ijh{k.k ds D;k mís’; gSa \ 

What are the objectives of test of significance in variables ? 

7- Vh&ijh{k.k ls vki D;k le>rs gSa \ fdu ifjfLFkfr;ksa esa Vh&ijh{k.k 
dk mi;ksx fd;k tkrk gS \ 

What do you understand by T-test ? In what conditions, T 
test is used ? 

8- dkbZ oxZ ijh{k.k dk mi;ksx dc fd;k tkrk gS \ dkbZ oxZ ijh{k.k 

dk lw= fyf[k,A 

When the Chi-square Test is used ? Write the formula of 
Chi-square test. 

9- dEI;wVj ds egRo dh la{ksi esa ppkZ dhft,A 

Discuss in brief the importance of computer. 

10- baVjusV ij la{ksi esa ,d fVIi.kh fyf[k,A 

Write a short note on INTERNET. 

 [k.M&n izR;sd 4 

(Section—D) 

nh?kZ mŸkjh; iz’u 

(Long Answer Type Questions) 

uksV % lHkh iz’uksa ds mŸkj 150 ‘kCnksa esa nhft,A 

 Attempt all questions in 150 words. 

1- lkaf[;dh; vuqla/kku ds dkSu&dkSu ls izeq[k pj.k gSa \ o.kZu dhft,A 

What are the main stages of statistical research ? Explain. 
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vFkok 

Or 

 izkFkfed vk¡dM+ksa dks ,df=r djus dh izeq[k fof/k;ksa dk o.kZu dhft,A 

 Explain the main methods of collecting primary data. 

2- vuqlwph ,oa iz’ukoyh esa vUrj crykb,A 

Distinguish between schedule and questionnaire. 

vFkok 

Or 

 fun’kZu dh izeq[k fof/k;ksa dk o.kZu dhft,A 

 Describe the main methods of sampling. 

3- lkFkZdrk ijh{k.k ds izeq[k pj.k dkSu&dkSu ls gSa \ o.kZu dhft,A 

What are the different stages of test of significance ? 
Explain. 

vFkok 

Or 

 mÙkj izns’k ds fdlh ftys ls pqus x;s 500 iq#”kksa ds ;kn`fPNd izfrn’kZ 

esa 300 /kweziku djus okys gSaA nwljs ftys esa pqus gq, 1000 iq#”kksa ds 

,d izfrn’kZ esa 550 /kweziku djus okys gSaA D;k bu leadksa ls ;g 

fu”d”kZ fudyrk gS fd iq#”kksa esa /kweziku dh vknr ds lEcU/k esa nksuksa 

ftyksa aesa lkFkZd vUrj gS \ 

 In a random sample of 500 men from a particular district of 
Uttar Pradesh 300 are found to be smokers. Out of 1000 men 
from another, of district 550 are smokers. Do the data 
indicate that the two districts are significantly different with 
respect to the prevalence of smoking among men ? 
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4- iqfyl fjdkWMZ ds vuqlkj fuEu lkj.kh esa tuojh 1997 ds izFke lIrkg 

ds fofHkUu fnuksa esa gqbZ nq?kZVukvksa dh la[;k iznÆ’kr dh xbZ gS % 

fnu nq?kZVukvksa dh la[;k 

jfookj 20 

lkseokj 12 

eaxyokj 13 

cq/kokj 17 

xq#okj 19 

‘kqØokj 20 

‘kfuokj 18 

;ksx 119 

 D;k nq?kZVuk,¡ lIrkg ds fnuksa esa leku :i ls foijhr gSa \ 

 ¼fn;k x;k gS % 5 izfr’kr lkFkZdrk Lrj ,oa 6 fMxzh vkWQ ÝhMe ij 

dkbZ oxZ dk rkfydk ewY; = 12.59½ 
The police records in a certain city show the following data 
relating to the number of accidents that occurred during the 
first week of January, 1977. You are required to find whether 
the accidents are equally distributed over the week : 

Days No. of Accidents 
Sunday 20 
Monday 12 
Tuesday 13 

Wednesday 17 
Thursday 19 

Friday 20 
Saturday 18 

Total 119 
(Given : Chi-square table value for 6 degree of freedom at 5 
percent level of significance = 12.59) 
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vFkok 

Or 

 ,d Ldwy ls 6 yM+ds pqus tkrs gSa ftuds lkaf[;dh esa 100 esa ls 

izkIrkad 63] 63] 64] 66] 60 ,oa 68 gaSA bu vk¡dM+ksa ds vk/kkj ij 

foospu dhft, fd bl Ldwy esa lkaf[;dh ds izkIrkadksa dk vkSlr  

66 gSA 

¼fn;k x;k gS % 0.05,t  5 d.f. ij 2-571½ 

 Six boys are selected at random from a school and their 
marks in statistics are found to be 63, 63, 64, 66, 60 and 68 
out of 100. In the light of these marks, discuss the general 
observation that the mean marks in statistics in the school 
were 66. (Given : t 0.05 at 5 d. f. = 2.571) 

5- ,d dEI;wVj ds fofHkUu izdkjksa dh la{ksi esa ppkZ dhft,A 

Discuss in short the various types of a computer. 

vFkok 

Or 

 baVjusV ij ,d fVIi.kh fyf[k,A 

Write a note on INTERNET. 
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